7. BUEBELERE
(1) PWZHREITRSEE
X 4 FR2BEE | FR29FE | FRIOFE | FMTEE | FNTFEE | FERLL
EE « e EE 7 EE 7 E£E « 1—7
BEIRZEER O /2 100.4% 100.0% 100.0% 100.0% 100.0% %
EZINZHE AC 99.3% 98.9% 97.2% 101.4% 98.4% A3%
BEKRESEXEZINIELLE 64.2% 67.0% 68.5% 69.0% 63.9% A5.1%
(2) BEBEIRIZZRSHUE
X 4 FR2BEE | FR9FE | FRIOFE | FMTEE | FNTEE | FERLL
EE « = 1 EE 7 EE 7 E£E « 1—7
MEEEFINIELE 11.0% 11.4% 11.7% 10.5% 13.2% 27%
(3) WAFERIZZRSEE
X 4 FR2BEE | FR29FE | FRIOFE | FMTEE | FNTFEE | FERLL
EE « e EE 7 EE 7 E£E « 1—7
1TEHYNEEER 153 A 150 A 142 N 151 A 140 A A1T1A
1EYYAREER 66 A 68 A 64 A\ 69 A 64 A\ A5 N
ERFI 76.74% 79.07% 74.07% 80.23% 74.42% A581%
E7ERE B 3 (—iRE ) 17.08 17.08 17.08 16.0H 16.4H 048
EETANLYZEIA (94 3F) 7,937H 7,732H 8,363M 7,900 8511 611
EE1TALYZEIA (AR 31,296 30,326 M 31,408 31,400M 30,408 A992H
(4) EEHEDHERICERIHIE
X 4 FR2BEE | FR29FE | FRIOFE | FMTEE | FNTEE | FEXRLL
EE « = 1 EE 7 EE 7 E£E « 1—7
BN 14474 14474 13144 132044 12394 A8
(5) HEESEEOINZ (BHHEHE) B -m5AHA
K4 TR28FEE | ER29EE | TRHI0EE | SMTEE | SHxEE | SHEXL
=g « = 4 EE 7 EE 7 E£E « 1—7
BEIniE O=A+B 1,142 1,095 1,091 1,179 1,092 A 87
EEIRE A 1,132 1,082 1,060 1,166 1,073 A 93
NI ERE 770 745 723 797 712 A 85
AlRZEBR 365H 365H 365H 366H 366H H
fRER 3L 86K 86K 86K 86K 86K 173
1TEHYEZEHN) 66 A 68 A 64 A 69 A 64 A A5 A
(JRERFIFZR) 76.74% 79.07% 74.07% 80.23% 74.42% A5.81%
2EEMmM) 31,296 30,326 31,408 31,400M 30,408 A992H
1 e 313 289 295 309 316 7
SNREEBE 265H 2648 2648 265H 265H H
1TEHYEZEHN) 153 A 150 A 142 A 151 A 140 A AN
2EEMmE) 7,937H 7,732H 8,363M 7,900 8511 611
EREC 10 10 8 12 8 A4
Z DD EZEINZE 39 38 34 47 37 A 10
EFE5INE B 10 13 31 13 19 6
B EFAQC+D+E 1,137 1,095 1,091 1,179 1,092 A 87
EEER Cle+f+g+h) 1,140 1,094 1,090 1,150 1,091 A 59
ANEE e 727 725 726 805 686 A 119
|E¥HXHH:$ 64.22% 67.01% 68.49% 69.04% 63.93% A5.11%
MHEEf 125 123 124 122 142 20
|E¥HXHH:$ 11.04% 11.37% 11.70% 10.46% 13.23% 2.77%
ZTOMER (EEEEAELET) 242 240 236 219 259 40
|E¥HXHH:$ 21.38% 22.18% 22.26% 18.78% 24.14% 5.36%
RmER - BEREES h 46 6 4 3 4 1
EXNER D 1 1 1 1 1 0
ZOMONER E 1 0 0 0 0 0
BEERE =0-0 5 0 0 0 0 0
= EREFERESHEIVZA 0 0 0 0 0 0
% ERERREHAREA 5 0 0 0 0 0
EEEEEEES k(glZit ) 28 28 28 28 28 0




